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1. Isthere a wwn of ym'n by |"712w n>n?
a. Only with 2 |"712w
b. Even by one there is a wwn
c. Thereisnowwn
d. Itisanp7nn

2. How would it be "\nIn to be T2 NI warm in a 1N on NOY?
a. IftheDisqipr
b. If the T2 '9is nuN7 19>
c. ltisalwaysnin
d. Itisanp7nn

3. Who is a w91 7y according to ""wA?
a. Anxn nm
b. ATon
c. ANIXN 'wa
d. Animmm

4. According to [nni 10, what is the jInon of no that was made of |nIX INNY7? X7¥ rO'N?
a. Itiswoy? :nnn
b. It cannot be used for the nixn of nxn
c. Then%710is not n'jn
d. Thereisaym'n wwn

5. What is the |'T of D"121 7¥ nipx¥a on NOO?
a. They are NIOX
b. They are 2'nin and one can be R¥I' with them
c. They are "nin but one cannot be RXI' with them
d. They are "nin and there is a N17Nn if one can be RXI' with them

For questions and comments, please email info@oraysa.org

Answers: 1-D,2-D,3-B,4-C,5-C




